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 1. Paul and Henry carry a 600 N sack on a pole between them. If the pole is 2.00 m long and the load is 0.50 m from Paul, what force does each of the boys exert. The pole is uniform and weighs 100 N
 2. A bridge is 80.0 m long and it supports a 2000 kg car 30.0 m from one end. Find the force exerted by the piers at each end. The bridge is uniform and weighs 100,000 N
 3. A 900 N painter is standing on a 3.00 m long plank, which is supported by a stepladder at each end. If he stands 1.00 m from one end, find the force exerted by each stepladder. The plank is uniform and weighs 100 N
 4. Two boys, 400 N and 500 N respectively, wish to balance on a 4.0 m seesaw Assume the pivot is at the center of the seesaw. If the first boy is 1.5 m from the pivot, find the distance that the second boy must be from the pivot. The beam is uniform and weighs 100 N
 5. A bar 5.00 m long has a 50.0 N weight attached from one end and an 80 N weight attached from the other end. Determine the magnitude, direction, and point of application of the equilibrant force. The pole is uniform and weighs 100 N
 6. A girl is chinning herself on a bar that is 2.00 m long. Her left hand is 0.50 m from one end and her right hand is 1.00 m from the other end. If she weighs 450 N, find the force exerted at each end of the bar by the wall. The bar is uniform and weighs 100 N
 7. An 800 N bricklayer stands 1.00 m from the end of a 3.00 m scaffold. A pile of bricks weighing 320 N is 1.50 m from the other end. Find the force exerted by each end of the scaffold. The scaffold is uniform and weighs 100 N
 8. A 5.00 m plank pivots on a sawhorse 2.00 m from end A. A 250 N weight is hung at end A and a 100 N weight is hung at end B. Find where a weight of 200 N be hung so that the plank balances? Find the force exerted by the sawhorse. The plank is uniform and weighs 100 N
 9. A 4.00 m beam is supported at both ends. A weight of 50.0 N is attached 1.00 m from end A, a weight of 80 N is attached 1.50 m from end A, and a weight of 30 N is attached 1.25 m from end B. Find the force exerted by each end. The beam is uniform and weighs 100 N
10. A beam 10.0 m long supports some 50 N weights that are arranged 50 cm apart starting at one end and finishing at the other end. Find the magnitude, direction, and point of application of the equilibrant force. The beam is uniform and weighs 100 N
11. A bench is 2.40 m long. The legs are attached 0.30 m from each end. Three persons sit on the bench in the following places: 550 N, 0.40 m from end A; 750 N, 1.20 m from end A; 1000 N, 2.00 m from end A. Find the force exerted by each leg of the bench. The bench is uniform and weighs 100 N
12. A uniform steel beam weighs 800 N and is 4.0 m long. Find the force required to lift one end of the beam.

13. A tapered telephone pole weighing 3600 N is 12.0 m long. If the center of gravity is 3.5 m from the heavy end find the force required to lift the light end of the pole.

14. A bar 4.0 m long weighs 400 N. Its center of gravity is 1.5 m from one end. If a weight of 

300 N is hung from the heavy end and a weight of 500 N is hung from the light end, what is the magnitude, direction, and point of application of the equilibrant?

15. A uniform 60.0 m bridge is supported at each end by a pier. The bridge weighs 500,000 N. If a truck weighing 75,000 N is located 15.0 m from one end, find the force exerted by each pier.

16. A 500 N plank 5.0 m long has its center of gravity 1.5 m from one end. If it placed on a sawhorse 

1.5 m from the light end, where would a 750 N weight be placed so that the plank balances?

17. A uniform 25.0 m bar weighs 10,000 N. From end A, a weight of 2500 N is hung. At end B there is a weight of 3500 N hung. An upward force of 3000 N is exerted 4.0 m from end B, while an upward force of 4000 N is exerted 8.0 m from end A. Find the magnitude, direction, and point of application of the equilibrant.
